Complete each of these activities in your maths books each day

Monday 16/10

Tuesday 17/10

Wednesday 18/10

Thursday 19/10

Miss Parrant has 4 rows of lemon
trees in her garden. Each row has
12 trees planted along the row.
How many trees does Miss
Parrant have altogether?

Mr Goodwin has $87 that he has

saved. He wants to buy tickets to
the warriors which will cost $109.
How much more money does Mr
Goodwin need to save?

Miss Parrant has 298 marbles in
her collection. She loses 98 of
these marbles. How many
marbles does Miss Parrant now
have?

There are 50 students going on a
class trip. Half of the class are
boys and half of the class are girls.
How many boys are going on this
trip? How many girls?

Miss Parrant has 12 stamps in her
stamp collection. Half of these
stamps were given to her by her
mum. How many of the stamps in
the stamp collection were given
to Miss Parrant by her mum?

Answer these questions:
1. 4+Q-=
2. 12+3-=
3 6+7+
4. 11+5-=
5. 7+7-=

Miss Parrant has 298 pokemon
cards in her collection. Mr
Goodwin gives her 98 more
pokemon cards. How many
pokemon cards does Miss Parrant
now have in her collection?

Miss Parrant bakes some cookies,
she decides that she will take %4 of
them to school. She has made 20
cooks in total. How many cookies
will Miss Parrant take to share at
school?

In the supermarket there are 7
rows of canned tomatoes. In each
row there are 7 tins. How many
tins of tomatoes are there in total
at the supermarket?

Miss Scanlan has $34 that she has
saved. She wants to buy Ed
Sheeran tickets which will cost
$99. How much more money
does Miss Scanlan need to save?

Miss Parrant has 34.57 cm of string
to hang up some balloons. She
needs 89.34 cm of string to hang
all of the balloons. How many
more cm does Miss Parrant need?

There are 25 students in the
classroom. They need to split up
into 5 teams to play a game. How
many students will be in each
team?

Miss Parrant has 15 stamps in her
stamp collection. One third of
these stamps were given to to her
by her mum. How many of the
stamps in the collection were
given to Miss Parrant by her
mum?

Answer these questions:
1. 9+6-=

12+5=

8+ 7 =

O+ 5=

12+8 =

16 + 7 =
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Miss Parrant has 345 NRL cards in
her collection. Mr Goodwin only
has 98 so she decides to give him
129 of her cards. How many cards
does Miss Parrant now have in her
collection? How many does Mr
Goodwin now have?

There are 72 students going on a
class trip to the zoor to see some
animals. The students need to be
split into 9 groups so that they can
see off of the animals on the trip.
How many students will be in
each group?




